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o (Sigma) = (TEa% - 7% (Bias)%) / Bat8F(4H (CV)
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Lot No.: AH1220N ; f&E&HARE : 2019-07-01 & 2019-12-31 ; HAZE(H (Target) : 17.1 ; 2 {WAE= (SD): 0.50 (o)
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JEHE LotNo © [AH1220N (2019-01-28 ~ 2100-12-31) v/ Change |
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ROEent | rarget | M f CV| TE|[TE H Target | M f _cv TE ||[TE
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odae
Lab004 3 17.1 | 174 o.1][0.6]2.9] 20 [pe[[][ 56 ][ 55 0.2][3.6][9.1] 20 [[5.1]
[Lab0i3 ] 3 | 158 || 160 | 8 |.|13||38|| 206 52 | 52 | 8 ||_||38||77||20 [5.3]
[Lavoie | 3 [ 153 | 161 | 4 Jodfo.s]es][20]F6ll 52 1 54 [ 4 Jo2|[3.7]11.3][20 |44
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[Laboo4 [ 3 ][ 171 | 17.10 [ 35 Jo.3|[1.8][3.5][20]>6][][ 5.6 ] 55 [ 35 Jo-2|[3.6][9-1][205.1]
[Labo13 |3 ][ 158 [ 159 |[ 77 Jo2[r3][3.1][20][>6[[][ 52 ][ 52 | 77 Jo-1J[1.9][3:8][20]}>¢]
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4RERZE (TE, Total Error)% = 8372 (Bias)% + 2 x REHERAE (CV)
o (Sigma) = (TEa% - 272 (Bias)%) / BRETEERAE (CV)
[TOP]
. Reagent
Reagent Kit Code

Innovation ||3




HiREREAr GOPD E B Wl EREHER (BRT)

JEHE LotNo : | AH1220N (2019-01-28 ~ 2100-12-31) /| Change |
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Control N H&tatEL Bet&tat 2 th
IR
Control N (Lot No.: AH1220N)
Month (2019/12) CUM (2019/02/01~2019/12/31)
UnitID Reagent Kit || Target || Mean | n for D CV || TE || TEa - Target || Mean || nfor SD CV| TE || TEa -
(Code) (U/gHDb) || (U/gHDb) || Mean (%) {|(%) || (%) (U/gHDb) || (U/gHDb) || Mean (%) || (%) || (%)
Lab004 3 17.1 17.4 4 |[0.1/0.6|2.9] 20 |[>6 17.1 17.1 35 |[0.3[| 1.8 3.5 20 |[>6
Lab013 3 15.8 16.0 8 [0.2]1.3]3.8] 20 ||>6 15.8 15.9 77 1[0.2( 1.3 ||3.1 | 20 |[>6
Lab016 3 15.3 16.1 4 |[0.1]|0.6| 6.5 20 |[>6 15.3 16.1 31 |[0.2f 1.2 7.7 20 |[>6
Lab044 3 17.7 17.2 9 |[[0.3]| 1.7]/6.3 | 20 |[>6 17.7 17.6 81 |[0.6(3.4|7.4]| 20 |[5.7
Total - - 16.7 25 |0.6(3.6] - || - | - - 16.8 224 1091540 - || - | -
2 (Bias)% = { [ | REFPISME (Mean) - B (Target) | ]/ BEHE (Target) } x 100%
#EEA= (TE, Total Error)% = §RZE (Bias)% + 2 x RETERMAE (CV)
o (Sigma) = (TEa% - 272 (Bias)%) / RetBERMAEL (CV)
Bagst o [2019 V]|[12 V] Change BEEHEARY (CUM) ¢ [ (2019 v|[02 v|[01 v| & [2019 v|[12 v|[31 v|| Change
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Control D (Lot No.: AH1220D)
Month (2019/12) CUM (2019/02/01~2019/12/31)
Uni E Reagent Kit || Target | Mean | n for SD CV|| TE || TEa - Target | Mean | n for D CV|| TE || TEa -
nitlD (Code) (U/gHD) || (U/gHb) || Mean (%) || (%) || (%) (U/gHDb) || (U/gHDb) || Mean (%) || (%) || (%)
Lab004 3 5.6 5.5 4 1[0.2(13.6{ 9.1 || 20 |[5.1 5.6 5.5 35 |0.2[3.6]19.1 20 |[5.1
Lab013 3 5.2 5.2 8 [0.2]3.8] 7.7 20 (5.3 5.2 5.2 77 1|0.1{{ 1.9 3.8 20 (|>6
Lab016 3 5.2 5.4 4 |[0.2(3.7||11.3| 20 ||4.4 5.2 5.3 31 ||0.1{{1.9]/5.7] 20 [|>6
Lab044 3 5.6 5.5 9 [[0.1]1.8( 5.4 20 ||>6 5.6 5.6 81 |[[0.2]/3.67.1] 20 ||5.6
Total - - 5.4 25 0.2|(3.7] - - - - 5.4 224 (02|37 - || - || -
B2 (Bias)% = { [ | BETPIIME (Mean) - HEHE (Target) | ]/ HBHE (Target) } x 100%
#EEAF= (TE, Total Error)% = ERZE (Bias)% + 2 x RETERMAE (CV)
o (Sigma) = (TEa% - 872 (Bias)%) / RetBERIAEL (CV)
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